

$$\phi = 5 \quad \left. \begin{array}{l} \dots \\ \nu = 0 \end{array} \right\} \Rightarrow \left. \begin{array}{l} 1- \\ 6 \end{array} \right| \left. \begin{array}{l} q = h_{12} + 25q \\ \nu = h_{12} + 25q \end{array} \right\} \Rightarrow \left. \begin{array}{l} 5 \cdot 1 \cdot \frac{5}{2} = h_{12} \cdot \frac{25}{2} \cdot 2 \frac{1}{6} \\ \nu = 1 \cdot \nu = h_{12} \cdot 25 \end{array} \right\} \quad | \quad \nu$$

[illegible]

$$\left\{ (1, 1, 89) \right\} = 5 \text{ min} \quad \left\{ \begin{array}{l} 89 = 89 - 80 = x \\ 1 = \frac{10}{10} = 0 \end{array} \right\} \Leftrightarrow \left\{ \begin{array}{l} x = 89 - 80 \\ 0 = 10 - 10 \end{array} \right\} \Leftrightarrow \left\{ \begin{array}{l} 58 = 89 - 31 \\ 89 = 89 - 0 \end{array} \right\} \quad (2)$$

$$\left\{ \frac{t}{x^2}, \frac{1}{\sqrt{v}} \right\} = 5 \quad \frac{t}{x^2} = \frac{t}{x^2 + 2t} = \frac{t}{x^2} + vt = 29 \quad \left\{ \begin{array}{l} 29 = h \cdot vt \\ 29 = h \cdot 2 \end{array} \right\} \Rightarrow \left\{ \begin{array}{l} vt = h \cdot 29 \\ vt = h \cdot 2 \end{array} \right\} \Rightarrow \left\{ \begin{array}{l} 9 \cdot \frac{2}{\sqrt{v}} = h \cdot \frac{2}{\sqrt{v}} - x \\ 9 \cdot \frac{2}{\sqrt{v}} = h \cdot \frac{2}{\sqrt{v}} - 2x \end{array} \right\} \quad (4)$$

$$\{69/22\} = 5 \text{ r } 9 \quad \begin{cases} 69 = 22x + y \Rightarrow \begin{cases} 69 - 22x = 0 \Rightarrow 11 - 4x = 0 \Rightarrow x = \frac{11}{4} = 2.75 \\ 22x = 69 - 11 = 58 \Rightarrow x = \frac{58}{22} = 2.63 \end{cases} \end{cases} \Rightarrow \begin{cases} 69 = 22x + y \\ 22x = 58 \Rightarrow x = 2.63 \end{cases} \Rightarrow \begin{cases} 2.63 & 0.90 \\ 2.63 & 0.90 \end{cases} \Rightarrow \begin{cases} 2.63 & 0.90 \\ 2.63 & 0.90 \end{cases} \quad (1)$$

$$\{(5, -5)\} = S \text{ and } \left. \begin{matrix} 5+2=x \\ 5=n \end{matrix} \right\} \Leftrightarrow \left. \begin{matrix} n-2=x \\ n=n \end{matrix} \right\} \Leftrightarrow \left. \begin{matrix} 2=n+x \\ 8=n+x \end{matrix} \right\} \quad (2)$$

$$\left. \begin{array}{l} x = 0 \\ y = 0 \end{array} \right\} \rightarrow \left. \begin{array}{l} z = 0 \\ t = 0 \end{array} \right\} \quad (P)$$

$$\{12, 14\} \subseteq S \cap \text{non } S = \{14, 21\} \quad \Rightarrow \quad \begin{cases} y = 2x - 2 \\ x = x \end{cases} \quad \Rightarrow \quad \begin{cases} y = 2x - 2 \\ 0x = 2x - 2 \end{cases} \quad \Rightarrow \quad \begin{cases} 0x = 2x - 2 \\ 0x = 2x - 2 \end{cases} \quad (1)$$

$$\{1, 2, 3, 4, 5, 6, 7, 8, 9\} = S \quad \text{Now } S = \left\{ \begin{matrix} x = 10 - 4z \\ y = 10 - 2z \end{matrix} \right\} \Rightarrow \left\{ \begin{matrix} x = 10 - 2z \\ y = 10 - 4z \end{matrix} \right\} \Rightarrow \left\{ \begin{matrix} 10 - 2z = 10 - 4z \\ 10 - 4z = 10 - 2z \end{matrix} \right\} \quad (1)$$

$$\left. \begin{array}{l} u = 1 \\ v = 0 \end{array} \right\} \Rightarrow \left. \begin{array}{l} s = 1 \\ u = 0 \end{array} \right\} \Rightarrow s$$

$$\left\{ \begin{pmatrix} 0 \\ \frac{5}{2} \end{pmatrix} \right\} = S \text{ and } \left\{ \begin{array}{l} F_1 = 2x - 2 \\ \frac{5}{2} = \frac{5x}{2} - 29 \end{array} \right\} \Leftrightarrow \left\{ \begin{array}{l} F_2 = 2x - 2 \\ -29 = x - 55 \end{array} \right\} \Leftrightarrow \left\{ \begin{array}{l} A \\ B \end{array} \middle| \begin{array}{l} 8x = 55 - 29 \\ 2 = 55 - x \end{array} \right\} \quad \text{A}$$

$$\left\{ \begin{array}{l} 3x - y = 2 \\ x + 2y = 4 \end{array} \right\} \Rightarrow \left\{ \begin{array}{l} -5x + 3y = -4 \\ x + 2y = 4 \end{array} \right\} \quad (2)$$

$$\phi = 5 \text{ mrad} \quad \left. \begin{array}{l} w = 1 + x \text{ m} \\ \text{sr} = 0 \end{array} \right\} \Leftrightarrow \left. \begin{array}{l} v \\ v \end{array} \right| \left. \begin{array}{l} w = 1 + x \text{ m} \\ g = 1 - x \text{ m} \end{array} \right\} \text{ (P)}$$

$$\{10: v\} = S \quad \left. \begin{array}{l} 0 \leq v \leq 10 \\ v = x \end{array} \right\} \Leftrightarrow \left. \begin{array}{l} v - x = 10 \\ 10 = x + 10 \end{array} \right\} \Leftrightarrow \left. \begin{array}{l} v \\ 1 \end{array} \right| \begin{array}{l} 10 = 10 - x \\ v = 10 - x \end{array} \quad (*)$$

(2) System inconsistent (2 d.f.s & more d.f.s)

4 a) $\left\{ \begin{array}{l} z = h + x \\ x + y = 2 \\ y = 0 \end{array} \right\} \in \mathbb{R}^3$ donc $S = \emptyset$ (aucun vecteur)